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Chapter 13

Quadratic equations  



The quadratic formula 

In general a quadratic equation takes the form

𝒂𝒙𝟐 + 𝒃𝒙 + 𝒄 = 𝟎 where 𝑎, 𝑏 𝑎𝑛𝑑 𝑐 are integers.

Quadratic equations can be solved by the use of the

quadratic formula which states that:

𝒙 =
−𝒃± 𝒃𝟐−𝟒𝒂𝒄

𝟐𝒂



𝒙 =
−𝒃± 𝒃𝟐−𝟒𝒂𝒄

𝟐𝒂

Example 1: Solve the quadratic equation 𝑥2 + 7𝑥 + 3 = 0

𝑎 = 1, 𝑏 = 7, 𝑐 = 3

𝑥 =
−7 ± 72 − 4 × 1 × 3

2 × 1

𝑥1 =
−7 + 37

2

𝑥2 =
−7 − 37

2

𝑥1 = −0.459

𝑥2 = −6.54



𝒙 =
−𝒃± 𝒃𝟐−𝟒𝒂𝒄

𝟐𝒂

Example 2: Solve the quadratic equation 𝑥2 − 4𝑥 − 2 = 0

𝑎 = 1, 𝑏 = −4, 𝑐 = −2

𝑥 =
4 ± (−4)2−4 × 1 × (−2)

2 × 1

𝑥1 =
4 + 24

2

𝑥2 =
4 − 24

2

𝑥1 = 4.45

𝑥2 = −0.449




